Pre-calculus Review Workshop 5.5 Trigonometric Equations (no calculators)

1. Solve the given equation.
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(a) sinf = 5 (b) cosf = —\/73 (c) sind =0 (d) cosf = % (e) sinf = ?

(f) cosf = —1 (g) sinf = —1 (h) cos® =0 (i) sinf = —g (j) cosf =3

(k) sinf = —% (1) cos = % (m) cosf =1 (n) sinf =1 (o) cos = —\/75

(p) tanf = —v/3  (q) tanf = —\/?g (r) tanf =0 (s) tanf = —1 (t) tanf = ?
2. Find all solutions to the given equation.

(a) sinf = cos @ (b) 2cosf@+1=0

(¢) V2sinf+1=0 (d) cotd —1=0

(e) V3tanh —1 =0 (f) sinf = cscd

(g) cosf = secl (h) sinf+1=10

3. Solve the given equation for 6 € [0,27]. (Hint: You may need to factor or use an identity.)

(a) 2sin”f — 1 =0 (b) 4cos®d —3 =0

(c) 2sin®*f — sinf =0 (d) 2cos’f — V/3cos =0
(e) sinf(2cosf +1) =0 (f) cosfsinfh = cos @

(g) sin*# —sinf — 2 =0 (h) sin® @ — 3 = 2sin 6

(i) sin(20) + cos§ = 0 (j) sin(26) = sin 0

(k) 2tan @ = sect (1) 2tan#sin®H = tan 6



(m) 2sin®@ +sinf — 1 =0 (n) sin® @ = sin # — cos®

(0) secfHcsch = 2csch (p) tanfsecl = 2tan 0



Answers

1. (a)9:%+2k7r,e:5§+2kw,forkez (b)6:%+2kw,9:%+2kw,f0rkez
() 8 = kn, for k € 7 (d)6:%+2kw,02%+2kw,forkez
(e)9:%+2m,9:2§+2m,f0rkez (f) 0 = 7 + 2k, for k € Z
(g)@z?%r—l—%w,forkez (h)@:gww,forkez
(i) 0 = %—i—%w, 0= %+2k7r, for k € Z (j) No solution
(k)ez%+2kw,9:1%ﬂ+2km for k € Z (1)9:g+2m,5§+2m, for k € Z
(m) 0 = 2kr, for k € Z (n)@zg—i—le,forkEZ
(0) 3w /4 4 2km, 57 /4 + 2kn, for k € Z (p) 9:2%—1—1{:#, for k € Z
(q)@z%erlm,forkeZ (r) 0 =km, for k € Z
(s)ez?%ww,forkez (t)9:%+k‘7r,forkEZ

2. (a)@z%—l—lm,forkez (b)9:2%+2k7r,0:4§+2k7r,f0rkez
(c)9:%+2kﬂ,%+2kw,fork62 (d)ezgww,forkez
(e)Gz%—l—lm (f)@:g+k7r,forkez
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(g) 0 = km, for k € Z (h)9:7+2k7r,f0rk€Z






